Name                                                                         Temperature and Pressure Conversions Homework
1 atm = 760 mmHg = 101.3 kPa 

and

K = oC + 273
Convert each of the following:

1.

745 mmHg to atm



2.     785 mmHg to atm

3.

1.35 atm to mmHg



4.     0.540 atm to mmHg

5.

679 mmHg to kPa



6.     1.28 atm to kPa

7.      102 kPa to mmHg



8.     100.4 kPa to atm

9.

25oC to K (room temp)

10.

-270oC to K (the temp of outer space)

11.

310 K to oC (body temp)

12.

373 K to oC (what is special about this temp? _________________)

